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QUESTION 1

Which two are true when creating a SyncMirror volume? (Choose two.)

A. The disks selected for Plex 0 and Plex 1 must come from the same disk shelf.

B. The disks selected for Plex 0 and Plex 1 must come from the same disk pools.

C. The number of disks added must be an even number and equally divided between the two plexes.

D. The disks are selected first on the basis of equivalent bytes per sector (bps) size, then on the basis of the size of the
disk. If there is no equivalent-sized disk, Data ONTAP takes a larger capacity disk and right-sizes it.

Correct Answer: CD

The rules for the selection of disks or array LUNs, for using as mirrored aggregates, are as follows:

Disks or array LUNSs selected for each plex must be in different pools. The same number of disks or array LUNs must be
in both the plexes. Disks are selected first on the basis of equivalent bytes per sector (bps) size, then on the basis of
the

size of the disk.

If there is no equivalent-sized disk, Data ONTAP uses a larger-capacity disk, and limits the size to make it identically
sized.

Data ONTAP names the plexes of the mirrored aggregate.

https://library.netapp.com/ecmdocs/ECMP1196991/html/GUID-F5F241AF-50C0-4FF3-8C01- 96958581C4D9.html

QUESTION 2

When using a Protection Manager policy to manage Open Systems SnapVault backups on a UNIX server, which three
are valid objects to include in the data set? (Choose three.)

A. Afile

B. A qtree

C. A directory

D. The entire client
Correct Answer: ACD

Open Systems Snap Vault runs on servers, so the objects that can be selected for backup will be host- based. Qtrees
are objects on the storage system.
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QUESTION 3

To collect per client NFS statistics on a storage system, the option nfs.per_client_stats.enable must be set on.
A. True

B. False

Correct Answer: A

https://library.netapp.com/ecmdocs/ECMP1196979/html/manl/na_options.1.html

nfs.per_client_stats.enable

Enables/disables the collection and display of perclient NFS statistics, as described in na_nfsstat(1). Valid values for
this option are on or off. The default value for this option is off.

QUESTION 4

Which command is used to set the configuration of an Ethernet network interface?
A. ifconfig

B. ifstat

C. netstat - i

D. sysconfig - v
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Correct Answer: A

https://library.netapp.com/ecmdocs/ECMP1196979/html/manl/na_ifconfig.1.html ifconfig - Configures network interface
parameters.

QUESTION 5

UNIX allows file access based on

A. NT ACLs and UNIX permissions.
B. NT ACLs and SID.

C. GID or UID and UNIX permissions.
D. GID or UID and ACLs.

Correct Answer: C

http://hd.kvsconsulting.us/netappdoc/801docs/html/ontap/smg/GUID-866DD79D-D2A6-4FBA-
BOBDA63560FECEFF.html

In OnTap 8.0, when UNIX security style is selected, only UNIX security objects can be used. The correct answer is GID,
UID and UNIX permissions.

Basic UNIX permissions are organized into three classes: user, group, and others. UNIX operating systems identify
users with a numerical value: a user identifier, also known as a UID or User ID. Each user is a member of a group of
the

same name as the user. Like UIDs, groups (GIDs) are also specified using a numerical value.
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